Biegevorrichtung

Schraube M4x12

Mutter M6

Mutter M4

Schraube M4x16

Mutter M4

Train Line Gartenbahnen GmbH  HiillerstraBe 25 32278 Kirchlengern

www.train-line45.de c €



Teileliste
EGI?]T Anz. Bauteilname

1 1 |Schlitten

3 1 |Mutter M6

4 1 |Mutter M6 (1)

5 1 |Koérper

6 1 |Sechskantschraube
M6

9 1 |Kugellager

10 1 |Kugellager (1)

11 1 |Kugellager (2)

12 1 |Mutter M4

13 1 |Mutter M4 (1)

14 1 |Mutter M4 (2)

15 1 |U-Scheibe (1)

16 1 |U-Scheibe (2)

17 1 |U-Scheibe (3)

18 2 |Schraube M4x16

19 1 |Schraube M4x12

Achtung nur fur Erwachsene

*/iﬂ& +

Ce



	Pläne und Ansichten
	Plan1
	Plan2


